
 
Find a closed form: 

∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙) + 𝐚𝐫𝐜𝐜𝐨𝐬⁡(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Ankush Kumar Parcha-India 

Solution by Amin Hajiyev-Azerbaijan 

∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙) + 𝐚𝐫𝐜𝐜𝐨𝐬⁡(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = ∫ ∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙𝒚
𝒅𝒙𝒅𝒚+ ∫ ∫

𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = 𝑴+ 𝑲

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑴 = ∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = ∫

𝟏

√𝒚
𝒅𝒚∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙
𝒅𝒙 = 𝟐∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟐|
𝟏

𝟎
𝟐√𝒙𝐚𝐫𝐜𝐬𝐢𝐧(𝒙) − 𝟒∫

√𝒙

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

𝑲 = ∫ ∫
𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = ∫

𝐚𝐫𝐜𝐜𝐨𝐬⁡(𝒚)

√𝒚
𝒅𝒚∫

𝟏

√𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟐∫
𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)

√𝒚
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

 

𝟐|
𝟏

𝟎
𝟐√𝒙𝐚𝐫𝐜𝐜𝐨𝐬(𝒚) + 𝟒∫

√𝒚

√𝟏 − 𝒚𝟐
𝒅𝒚 =

𝟏

𝟎

𝟒∫
√𝒚

√𝟏 − 𝒚𝟐
𝒅𝒚

𝟏

𝟎

 

𝑴+𝑲 = 𝟐𝝅− 𝟒∫
√𝒙

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

+ 𝟒∫
√𝒚

√𝟏− 𝒚𝟐
𝒅𝒚

𝟏

𝟎

= 𝟐𝝅 

 

 


